1. KaneHaapHbIn y4eOHbIN rpaduk
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2. CBoaHble AaHHble

Kypc 1 Kypc 2 Kypc 3 Kypc 4 Vroro
ceM. 1| ceM. 2| Bcero | cem. 1| cem. 2| Becero | cem. 1| cem. 2| Bcero | cem. 1| cem. 2| Bcero

TeopeTtuyeckoe obyyeHne 16 16 32 16 16 32 17 14 31 17 10 27 122
D [2k3aMeHaumMoHHbIe ceccum 2 2 4 2 2 4 2 2 4 2 3 5 17
Y [YuebHas npaktuka 3 6 9 3 6 9 2 2 2 2 22
M |lMpon3soacTBeHHas NpakTUKa 8 8 4 4 12
[ [BbinyckHas kBanudmkaumoHHas paboTa 3 3 3
I |Foc. ak3ameHbl u/unn 3awmuta BKP 1 1 1
K [KaHukynbl 2 5 7 2 5 7 2 5 7 2 8 10 31
UToro 23 29 52 23 29 52 23 29 52 23 29 52 208
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